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21. The process of searching for a special pattern of symbols within a larger

collection of information is called . (A) sequential search (B)
dynamic processing (C) pattern matching (D) pattern search.
22. UNICODE encodes a total of different characters.

(A)64 (B)256 (C)512 (D) 65,536.

23. The functional unit of a computer that stores and retrieves the instructions and the
data being executed is called the
(A) control unit  (B) I/O controller (C) memory (D) cache.

24. Assemblers usually make _ pass(es) over the source code.

(A)one (B)two (C)three (D) four.

25. The process of associating a symbolic name with a physical memory address is
called __ . (A) synchronizing (B) validating (C) binding (D)
registering.

26. Which of the following layer of the TCP/IP protocol hierarchy handles framing?
(A) data link  (B) physical (C) network (D) application.

27. __ programs consist of facts and rules.

(A)Ada (B)Prolog (C)C++ (D) Scheme.

28. Duringthe __ phase, the sequence of tokens formed by the scanner is checked
to see whether it is syntactically correct according to the rules of the programming
language.  (A) lexical analysis (B) parsing (C) code optimization (D) semantic
analysis and code generation.

29. Which of the following statements about the halting problem is correct?

(A) It is a computable problem.

(B) No Turing machine exists to solve this problem.

(C) A Turing machine exists that solves the problem.

(D) If it cannot be done by a Turing machine, it is still computable.

30. _isthe process of verifying the identity of the receiver of your message.
(A) Spoofing (B) Authentication (C) SSL (D) Encryption.
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3. Please transfer the following tree T to a binary tree T’ and let the tree T and tree

T’ have the same traversal order.

Given an undirected connected Graphic G with n nodes and its edge set E. Each

4.
edge has a cost value. Please use Prim’s algorithm to construct the minimum cost

spanning tree step by step.

Graphic G
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1. Show that if five integers are selected from the first eight positive integers, there
must be a pair of these integers with a sum equal to 9.

2. Apalindrome is a string whose reversal is identical to the string. For example, 101
and 1001 are palindromes.

(@) How many binary strings of length 9 are palindromes?

(b) How many binary strings of length 10 are palindromes?

3. Solve the equations (a) Z(E) ) Z(_l)k(ﬂ)
k=0 k=0

4. Assume there are only 365 birthdays (i.e., no February 29).

(@) In a set of k people chosen at random, what is the probability that 2 or more of

them have the same birthday? (7%)

(b) For 2 randomly chosen people, what is the probability that they have the same
birthday? (3%)

5. Let ® and © be two operations defined on Z4, = {0, 1, 2, 3, ..., 13} such that a ®
b=(a+bmod14)anda © b =(a-b mod 14). Is the algebraic system (Zy4, @,

®) aRing? Justify your answer.

6. Let N denote the set of all natural numbers. Given the relationR = {(a, b) |a, b €

N and a divides b}, please prove that R is a partial order relation.



7. Let A be a set with six distinct elements. (a) How many different binary relation on
A are there? (b) How many of them are total ordering relation?

8. Find a minimum cost spanning tree of the graph shown in Figure 1. Also, write
down its cost.

Figure 1

9. Please write down the Adjacency Matrix and the Linked Adjacency List of the
graph shown in Figure 2.

Figure 2

10.C = {00000, 01111, 10101, 11010} is a group code of B” and it is d-error correcting
code. Please write down the minimum distance of this code and the value of d.



	96資工轉-計算機概論
	96資工轉-離散數學

